Installation Instructions for Parts and
Accessories

F 5371001 WW

Retrofitting Tow bar

BMW X5 (E53) US
Specialized knowledge required

Order no. 01 29 0 008 710 Voo 303 1693081 102



1.1

2.1
2.2
23
2.4
2.5

Contents

Important Information .............cccovcveennon eeeiarrru e et i e eyt r e e e sy e sabeaene
Pamts sl ... et e
Retrofitting TOW Dar ... e e

Necessary preliminany WOrk ...

List of connections for additional wirlng harness ...

Installing tow bar

Installing additional wiring harness ... e

Operating check
Circuit Diagram

B 7o Lo 1 oo U

Page
1-1
1-2
2-1
2-1
2-2
2-5
2-13
2-19
3-1



1. Important information

Read all information and installation instructions carefully before starting this installation procedure,

The care and malntenance instructions are contained in the operating instructions for the tow bar.

If no electric brake module is retrofitted, be sure to apply the enclosed adhesive labels with the warning "no electric
brake" next to the adhesive label (ball position) on the painted surface of the bumper (clean application service be-
forehand) (see Figure 53 71 020 WW on Page 2-17).

General information

The installation instructions describe the tow bar BMW X5 (E53) US.

Bolting reguiation

- First mount all belts and nuts by hand and tighten loosely.

- Aligh tow bar.

- Tighten bolts and nuts in following order;

- 1. Nuts with rolled-on washer on tow bar/rear panet

- 2. Hexagon bolts M10x30 and M10x85 on longitudinal member/vehicle underside
- 3. Hexagon boelts M10x30 on longitudinal member/luggage compartment

Required tools and aids

Straight-blade screwdriver

Phiflips screwdriver

Reversible ratchef with hexagon socket SW8, SW10, SW13 and SW16
TORX screwdriver T20 and 755

Torque spanner

3 The electric brake for the trailer is not connected!

A connection pin for retrofitting is provided on plug X393S.

If an electrical brake is desired for the trailer, it can be retrofitted.

Forthe latest list of recornmended brake controllers contact BMW Service Hotline.

The signal pick-off for ,brake” (the input to the brake controller) may only take place on plug X12, Pin 10.
This plug, X12, is to the Light Control Module {LCM), the wire color is black and yeliow.

The output of the brake controller must be connected to plug X3935, Pin 11.

The male pin (BMW P/N 61 13 1 376 195) should be used at the mating pfug of X3935.

Be sure to cbserve this information.

EN/M-1



1.1 Parts list

Item Description Quantity
a Basic tow bar 1
b Left support 1
c Right support 1
d Bumper carrier 1
e Spacer 2
f Bumper bracket 2
g Hexagon bolt M10x30 - 10.9 6
h Hexagon bolt M10x85 - 10.9 2
i Hexagon bolt M10x50 - 10.9 4
i Hexagon bolt M10x130 - 10.9 {alternative: M10x135 - 10.9) 4
k Washer 10,5x25x3 8
| Nut M10 with rolled-on washer 8
m Adhesive label (ball position} 1
n Electrical socket bracket 1
o} Wirning harness with electrical socket, 7-pin 1
p Trailer module AHM 1 1
g Hexagon bolt M6x16 2
r Half-round bolt M5x15 4
s Washer 6,6x14x1,5 2
t Adhesive label {warning} 1
u Cables ties, long 1
v Cables ties, short 3
W Installation instructions 1
X 7-way to 4-way adapter 1

EN/M-2



2. Retrofitting Tow bar

Note
Observe safety instructions in Chaptert.

The accessories are instafled based on the known workshop information.

2.1 Necessary preliminary work

Print out fault memory.

Disconnect battery.

Fold up fioor cover.

Remaove spare wheel.

Remove luggage compartment trim on right and left.
Remove luggage compartment trim on rear panel.
Remove rear bumper.

Remove metallic impact absorbers (The metalfic impact absorbers are no longer required with the tow bar mounted).

Remove mufflers and heat shieids.

21



2.2 List of connections for additional wiring harness

Fold out fold-over page 2-3!

Brief
item | Version/Designation Cable Colour | Connection In Vehicle ne
Description/Slot
a Additional wiring harness

Black, 12-pin, . -
At C t lug X393

socket housing onnection piug °
A2 7-pin trailer plug Electrical socket bracket of tow bar X630







2.3 Installing Tow bar

Fold out fold-over page 2-11!

A
Remove carefully LH and RH rear mufflers and heat shields to gain access to mounting holes in vehicle body.
Mount the left and right support (1) through the opening for the metallic impact absorber {a).

B
Tighten the supports {1) with the bolts M10x85 (2} and washers 10x25x3 (3), and the holts M10x30 (4) and washers
10,5x25x3 (3} hand tight.

The support brackets are position specific. The locating pin on each bracket must be in the lower inward position.

C

Putin the bolts M10x50 (5) into the hasic part of the tow bar (6).

Put in the bolts M10x130 (7) into the left and right bumper bracket (8).
Bend the tongues of the cages by a hammer,

D
If installing additional wiring harness is desired, perform all steps (that apply) in 2.4 Installing additional wir-
ing harness before proceeding with the remainder of this step.

Screw on the basic part of the tow bar (6) with spacers (8), bumper brackets, |eft and right hand side specific (8),
and M10 fastening nuts with rolled-on washers (10). Hand tighten from the rear luggage compartment area. Position
each bumper bracket on the tow bar with the protruding end of the center tube facing down.

E
Screw on 2 bolts M10x30 {11) and washers 10,5x25x3 (3) each with the welded nuts on the vehicle at position (b} on
the right and left, hand tight from the Tuggage compartment.

13 Align towing hitch.

1. Firmly screw on 4 nuts M10 with rolled-on washer (10) each on the right and left to secure the tow baron
the rear panel (see Fig. D).
Tightening torque: 85 Nm.
2. Firmly tighten the bolts {2) and (4) in the longitudinal member {see Fig. B).
Tightening torque: 656 Nm.
3. Firmiy tighten the bolts (11) (see Fig. E).
Tightening torque: 65 Nm.

F
Remove the bumper carrier from the bumper.
(Old bumper carrier is no longer required with the tow bar mounted).

G
Fit the new bumper carrier BMW - order no.: 51.12-8250415 in the bumper and secure,

H

Reinstall heat shields and rear mufflers.

Secure the bumper with the mounted bumper carrier on the vehicle.

{Previously removed Torx screws (12) are now screwed to the tow bar. Tightening torgue: 55Nm)

|E| The metallic impact absorbers are no longer required with the tow bar installed.

EN/2-5



|
Apply the adhesive label {ball position) in the centre over the mounting pipe on the painted surface of the bumper
(clean application area beforehand).

J

The ball mount used should not exceed the dimensions as shown.

The following maximum trailer and tongue weights are authorized for the tow bar:
Max. Trailer Weight

Weight Distributing 6000 Ib
Weight Carrying 6000 b
Max. Tongue Weight
Weight Distributing 600 Ib
Weight Carrying 600 1b

Depending on vehicle model type and use, and trailer type and use, lower frailer and tongue welights may be re-
quired. Refer to your vehicles owners manual for specific gross vehicle weight rating (GVWR). Do not exceed the
vehicle GVWR.

Maximum towing weight for trailers without brakes (on and off road).......... 1650 [bs.
Maximum tongue weight for trailers without brakes (on and off road)........... 330 Ibs.
Maximum towing weight for trailers with brakes {offroad)......................... 3300 ibs.
Maximum tongue weight for trailers with brakes (off road)............cccoe e 330 Ibs,
*Maximum towing weight for trailers with brakes (on road)...................... 8000 Ibs.
*Maximum tongue weight for trailers with brakes (onroad)..................... 600 Ibs.

*Applies only to;
eight cylinder models with automatic transmission,
six cylinder models with manual transmission.

**Maximum towing weight for traflers with brakes {(on road}....................... 5000 Ibs,
**Maximum tongue weight for trailers with brakes (onroad)........................ 800 Ibs.

**Applies to six cylinder models with automatic transmissions.

@ The tow bar may only be used with a suitable ball. It is only used to puli trailers equipped with a suitable cou-

pling. When towing a trailer, attach the hitch safety chain to the lugs provided. It is not permissible to alter the tow bar,
or to carry out drilling or cutting operations or other modifications on it. Any other use of the tow bar is prohibited.
Traiter hitches damaged due to an accident, bottoming or crashing must be replaced.

EN/2-6



~ e |
AN

LH +§}Tm | F 5371 002 WW LH+ RH ) l"ﬂ “\ \Fsz-;?oawv;
c - D

FB3 71 007 WW

H

F 53 71 008 WW

1 009 WW
12 F 53710089




|
il

Rty

SIS X

2-11



2.4 Installing additional wiring harness

Fold out fold-over page 2-17!

A
Remove the blind plugs (1).

B
Route the wiring harness (a) through the hote (2) and insert the rubber grommet {3} in the hole.

@ The rubber grommet must be firmly seated in the hole to prevent the entrance of water. Seal off with silicone if
necessary. «

c

Route the wiring harness {a) along the vehicle wiring loom to the 12-pin plug housing (X393s) at the rear right,
Connect the 12-pin socket housing (A1) of the wiring harness (a) to the 12-pin plug housing {X383s). Secure the
wiring harness (a) on the vehicle’s own wiring harness with cable ties (4).

D

Secure the electrical socket bracket (b} at position ¢ with the hexagon bolts M8x 16 (5) and washers 8,6x14x1,5 (8).
Secure the trailer electrical socket 7-pin {11} on the electrical socket bracket with the slotted screws (7) provided,
Secure the wiring harness (a) on the cross pipe of the tow bar with a cable tie.

@ Make sure that the harness connector (10) is correctly connected with the electrical socket 7-pin (11).
Make sure that the secondery lock (8) of the harness connector {10) is locked.

E .
Remove the spare wheel bracket/air suspension purnp assembly (12) by
removing the 4 screws (13).

|E| Make sure that the connected cables are not damaged. «

F
Remove the plastic cover plate (14) by unscrewing the 3 screws (15).

G
Remove the plastic carrier plate (16) by removing the 3 screws (17) and just loosening the screw (18).
Carefully remove the plastic carrier plate (16).

@ Make sure that the connected cables are not damaged. «

H
Clip the trailer module (19) onto the plastic carrier plate (18).
Connect the black 15-pin socket housing (X609) to the trailer module (19).

IE‘ Make sure that the 15-pin socket housing lock {X609) has fully engaged. «

@AII removed parts are reinstalled in the reverse order. «

|

If no efectric traller brake control module is retrofitted to the vehicle, apply the enclosed adhesive label with the warn-
ing “No electric brake” next to the adhesive label (ball position} on the rear bumper. Clean bumper surface before
applying labels. Reference F 53 71 020 WW on page 2-17.

EN/2-13



\(\iﬁ F 5371012 WW

A

\
P A \ F 53 71 014 Ww

F5371 013 WwW

19
fed 416

F 5371 019 WW




217



2.5 Operating check

Electricalcheck:

- Check the operation of the trailer lighting each time a trailer is connected.



3.  Circuit Diagram

Fold out fold-over page 3-4

A3
AB
A48

X12
X38
X318
X319
X393
X484
X498
X585
X809
X1232
X1986
X10017
X1017

EN/3-1

Light module
Trailer medule
Fuse hoider iH

Light module A
Light module B
Tail light right |
Tailiight left |

Kar trailer module
Earth-VII
Earth-Viii

VB 58

Trailer module

VB 58R
K530<F205

Fuse hoider {il A48
Light medule C



Y
FapX 8BV X
v
SEEBEX pvwm 0 e R VTS _
kg 572
B e Eln T e 8
57 526 sevo|  seofaeo 0L
Hy
[:£4 HyA
BS OA ® HBS GA
SESX CECLX
L] Lanis{ L)
52 *p|sa aisL o)
s {nerea nsua HS29| w530
509X 5°0| 5°0] §"0[se"0[sL"0
Hy Ao oz POl ¥ Y
RS ¥FS HYES HYGK Er  YSH TITA>TIE SHEF BFS HHES
SY
H-HHY SRPOE
ayly M|
509X
394878 1K
SE0 (]
Hy
£1001X LLL0LX W
s R 9851X
Z hul
8yv | Jlle ) mmm
@

EY

Hy3[Ey m v hy a<.u4_:mv v Jxmnm e |
BLEX BLiEX
Y| AMs|  SMdd N8l 1AM9
8470 540 50 SL°0 S0
cLx mm«vm I Nwﬁ_.. OLX m,._. A
. e vt
3




